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Ideals for irreducible componentfbf Xpar

It = (u' —u®® 4+ 50’ — 4 + 1000 — 7u® + Tu® — 40" — 4u® + 207 — Sut + 4w — 20 Fu+ 1)

* 1 irreducible components of dim¢ = 0, with total 14 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u' — u'® 4 54’2 — 4u! + 100! — 7Tu® 4 Tu® — 4u” — 4ub + 245 —
8ut + 4u® — 2u? + u + 1)

(i) Arc colorings

e ()

o= (o)
o= ()
u
az = \ud+u
—u?
a4: u3+u
u() 4+1
ub + 2ut + u?
u? —|—2u +ub—2ud —u
—u® —3u" —3ud +u
12+3u10—|—3u wd —dut —u? +1
— Ayt0 — 648 2u6—|—3u4—|—2u2
<u5—|—u +u>
—u —ut+1
—u® — 2u8 — 2yt
fu —2u” — P +2u Jru
a2 = Po3u® — 4 — WP +ud+u

12+3u10—|—3u — 28 — 4yt —u? 41
ag = u137u12+“.7u71

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u'3 + 44?2 — 166!t + 12019 — 2407 + 16u® — 4u” + 20u® — 8u* + 12u3 — 8u? — 4u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w4+ 9u 4 —Bu+1
Ca2,C8 ut— B+l
€3, C4,C5
14 13
Ce, €75 Co witut 4t 3utl
€10, C11, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
! Yyt =Ty o — 65y + 1
C2,C8 Y9yt =By 41
€3, C4,C5
€6, C7, Co y't =23y 4 — By +1
€10, C11, C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u = 0.972298

11.0809

—15.9440

u = —0.306114 + 1.0290601

—3.14696 — 2.764301

—17.6509 + 6.32981

u = —0.306114 — 1.0290601

—3.14696 + 2.764301

—17.6509 — 6.32981

u = —0.884219

—14.9042

—15.7550

0.159123 + 0.8379901

u =

—0.675258 4 0.9851541

—10.63652 — 6.077941

uw= 0.159123 — 0.8379901

—0.675258 — 0.9851541

—10.63652 4 6.077941

u= 0.396353 + 1.1673401

—9.01747 + 3.994091

—18.9152 — 4.11941

u= 0.396353 — 1.1673401

—9.01747 — 3.994091

—18.9152 4 4.11941

u= 0.713918

—5.61914

—15.3500

u = —0.455547 4 1.2562301

—18.7410 — 4.76681

—19.0242 4 3.16321

u = —0.455547 — 1.2562301

—18.7410 + 4.76681

—19.0242 — 3.16321

0.489108 + 1.3065201

7.03257 + 5.195591

—19.0102 — 2.76001

u =
u=0.489108 — 1.3065201 7.03257 — 5.195591 —19.0102 + 2.76001
u = —0.367845 —0.678832 —14.4770




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ut +9ut 4 —Bu 41
C2,C8 TR, U |
C3,C4,Cs5
14 13
g, C7, Co v +u+-4+3u+1
€10, €11, €12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 yt =Ty 4+ — 65y + 1
Ca, C8 Yyt oy 4 =By +1
C3,C4,Cs5
g, C7,Co y't =23y - =By +1
€10, €11, €12




